5 % @ AN # (6) ( 68 3H(A)) O-0: # Rk
1 pmal ) Ak RIE BE (RS )
ﬁ:':' ~ EI [ |
$BF 100 keik - ] @D MMESE (RS )
SCUERBSIL (51, 230 A5 :
(3 f B0 R (b o)
no ® F 4 A Jilzg BN ( FHiEE— )
1| W B | wEs—
100 Y (el
kg , _ e
@ S
A 1- 43 .,
R {
2| 3| W pen | e R i SESaEl
1 o e
| e st
& N T otk
Yl sl g okm < O NG] ~==
6 e R | wRmE
100 Y L
kg
a | 7| MR WPEE | BRASERE
B 1- 44 = R
. . A
o | o8| wmm R | wcRvm ‘ - 71
5 O/Noh
1 .
|9 ma s o
a@ M e
=) e
%10l &0t B 5 s
- . OFLRE
- 18
1| B &N EE R
100 FUA ) B 75 [E R — -,
kg . g e
| 12| RS ORME | AR
C 2- 40
|
o || e sE | s R =
5
) A
2 | ettt
ik
) S
%ol 15| ik BA | #Bs— ?
@ © p—m
6| wmomy | 4o A
100 O HIWs
kg 2- 58
@ | 17| FH A | BEEE
D 2— 41 YT
~ | 18 ERE -l T a 2- 72
= Fili5E S —
2 e T A
S| s | R
a S v
Yl 20| ke siE | BAsEE .




